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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %
1 2245 6.1 1.7 10 61.2 100

AS Business B510U10

Question
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(b) Suggest two factors that Dominic may have taken into account when deciding where to
locate his cake shop and expiain the effects these will have on his busmess
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(b) Suggest two factors that Dominic may have taken into account when deciding where fo
locate his cake shop and explain the effects these will have on his business. [6]
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(b) Suggest two factors that Dominic may have taken into account when deciding where to
locate his cake shop and explain the effects these will have on his business. [6]
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Q1 (b)

Suggest two factors that Dominic may have taken into account when deciding
where to locate his cake shop and explain the effects these will have on his

business. [6]
Band AO1 AO2 AO3
2 marks 2 marks 2 marks

2 2 marks 2 marks 2 marks
Demonstrates good Good application of the Good analysis of both
knowledge and two factors affecting the factors identified that
understanding of the key location of Dominic’s cake | affecting location
factors affecting location shop. decisions.
decisions.

The key factors are A clear explanation of how
Learner clearly identifies two | applied in context of the the two identified factors
location factors. data and information is will impact on the
used in the development. | business.
A logical chain of
reasoning is evident.

1 1 mark 1 mark 1 mark
Demonstrates limited Limited application of the Limited analysis of the one
knowledge and factors affecting the factor identified affecting
understanding of the key location of Dominic’s cake | location decisions.
factors affecting location shop.
decisions. A limited explanation of

The learner’s response is | how identified factor will
Learner identifies one mainly theoretical with impact on the business.
location factor. limited reference to the
data. Some points undeveloped
and lacks detail and depth.
0 0 marks 0 marks 0 marks

No suitable location factors
identified.

No application to
Dominic’s business.

No analysis attempted.

Indicative content:

Factors to consider:

Transport links and infrastructure allow for easy access to Dominic’s cake shop
(customers, staff and suppliers) this should ensure a steady flow of customers and
allow suppliers to deliver goods.

Cost of rent/price of property. Dominic has inherited a large sum of money so he
could afford a well-located premises at a prime location, this would help the business
become a strong brand in the local area.
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(b) Suggest two factors that Dominic may have taken into account when deciding where to
locate his cake shop and expiain the effects these will have on his busmess
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Sticky Note

AO3 Clear analysis of the impact on Dominic's business demonstrated.



Sticky Note

AO2 Factor identified has been applied in context of the data.



Sticky Note

AO1 Candidate has identified second factor affecting location decisions.



Sticky Note

AO3 Candidate has explained how factor will impact on Dominic's business.



Sticky Note

AO2 Factor identified has been applied in context of the data.
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Sticky Note

No AO3 awarded.  Statement is vague and not specific enough.



Sticky Note

AO2 Key factor affecting location decisions has been identified in context of the data provided.



Sticky Note

AO1 Candidate has identified that businesses need to be close to their market to be successful. Factor affecting location decisions has been identified and point has been developed.



Sticky Note

AO3 Candidate has explained the impact that the small bakery in the local town may have on Dominic's business.



Sticky Note

AO2 Candidate has applied factor identified in context of the data.



Sticky Note

AO1 Candidate has identified a key factor affecting location decisions.
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(b) Suggest two factors that Dominic may have taken into account when deciding where to| .
locate his cake shop and explain the effects these will have on his business. [6]]
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Sticky Note

In this example the candidate has scored no AO2 marks as no reference to Dominic's business has been made.



Sticky Note

AO3 Candidate has clearly explained its impact on the business and its success.



Sticky Note

AO1 Another factor affecting location decisions identified.



Sticky Note

AO3 Candidate has explained its impact on the business.



Sticky Note

AO1 Candidate has identified key factor affecting location decisions.






Answer all the questions in the spaces provided.

Cakes by Dominic

Dominic has been helping his grandmother run a small-scale business
from her home making celebration cakes for special occasions such as
birthdays and weddings. She helped him develop his cake-making skills
which he further improved by completing a catering course at a local
college.

His grandmother wants to retire and let Dominic take over the business
as Dominic has always wanted to become an entrepreneur. He is very
passionate about what he does and is grateful to her as there are very few
job opportunities in the area. He has recently inherited a large sum of money from another relative
and wants to expand the business by setting up a small cake shop in his local town centre which
is busy with local trade. Apart from a small local bakery, there is no other competition in the area
that specialises in celebration cakes. Dominic is very optimistic about the future success of the
business and hopes that his initial investment will give a good return.
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Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also trades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and children as well
as looking at other sports such as cycling, sailing and skiing. She is also considering turning the
company into a public limited company by floating it on the Stock Exchange.
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5

(b) Discuss whether or not Serendipity Ltd should become a public limited company (PLC).
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Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also trades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and children as well
as looking at other sports such as cycling, sailing and skiing. She is also considering turning the
company into a public limited company by floating it on the Stock Exchange.
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(b) Discuss whether or not Serendipity Ltd should become a public limited company (PLC).
[8
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Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also trades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and children as well
as looking at other sports such as cycling, sailing and skiing. She is also considering turning the
company into a public limited company by floating it on the Stock Exchange.

Examiner
only





i

5

(b) * Discuss whether or not Serendipity Ltd should become a public limited company (PLC).
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Q2 (b) | Discuss whether or not Serendipity Ltd. should become a public limited
company (PLC). [8]
Band AO2 AO3 AO4
2 marks 3 marks 3 marks
3 3 marks 3 marks
Excellent analysis of the An excellent and well-
reasons why Serendipity Ltd balanced evaluation of the
should (or should not) become | decision to become (or not
aPLC. become) a PLC.
Analysis shows a clear line of | Relevant judgements are
argument and includes an made with supporting
excellent understanding of the | statements to build on
impact on Serendipity Ltd of arguments.
operating as a PLC.
Includes an overall
The analysis is clearly focused | conclusion.
on the context.
2 2 marks 2 marks 2 marks
Good application of | Good analysis of the reasons A good and balanced
the issues of why a business should (or evaluation of the decision
becoming a public | should not) become a PLC. to become (or not become)
limited company to _ _ aPLC.
Serendipity Ltd Analysis shows understanding o
of the impact on businesses of | Valid judgements are
Clear reference to | operating as a PLC. made to support
Serendipity Ltd. arguments with some
development on both
sides.
Answer may contain a brief
conclusion.
1 1 mark 1 mark 1 mark
Limited application | A limited analysis of the Limited evaluation of the
of the issues of reasons why a business decision to become (or not
becoming a public | should (or should not) become | hecome) a PLC.
limited company to | @ PLC.
Serendipity Ltd. - .
Demonstrates a superficial Partial and unsupported
understanding of the impact of | judgements made.
operating as a public limited
company. One-sided evaluation.
0 0 marks 0 marks 0 marks
No application to No analysis demonstrated. No evaluation of the
Serendipity Ltd. decision to change the
company’s organisational
structure.

© WJEC CBAC Ltd.







Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also trades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and children as well
as looking at other sports such as cycling, sailing and skiing. She is also considering turning the
company into a public limited company by floating it on the Stock Exchange.
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(b) Discuss whether or not Serendipity Ltd should become a public limited company (PLC).
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Sticky Note

No marks awarded here because issue the same for  a Ltd. company. Had the candidate mentioned AGM and an annual report then this would have been allowed.



Sticky Note

AO3 Candidate demonstrates a good understanding of the impact on business success of operating as a PLC.



Sticky Note

AO3 Candidate demonstrates an understanding of one of the drawbacks of becoming a PLC. A clear line of argument has been included.



Sticky Note

AO2 Reference to Serendipity Ltd.



Sticky Note

AO4 Candidate has made judgments with supporting arguments.  A conclusion has been included though this is a little weak. 










Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also trades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and children as well
as looking at other sports such as cycling, sailing and skiing. She is also considering turning the
company into a public limited company by floating it on the Stock Exchange.
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(b) Discuss whether or not Serendipity Ltd should become a public limited company (PLC).
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Sticky Note

AO2 Clear reference to Serendipity Ltd. 



Sticky Note

AO3 Candidate discusses the impact of becoming a PLC and its affect on business success.



Sticky Note

AO4 Candidate evaluates and includes relevant judgments with supporting statements to build on arguments.



Sticky Note

AO3 Candidate analyses reason why Serendipity Ltd. should become a PLC.



Sticky Note

AO2 Reference to Serendipity Ltd.










Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also trades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and children as well
as looking at other sports such as cycling, sailing and skiing. She is also considering turning the
company into a public limited company by floating it on the Stock Exchange.
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(b) * Discuss whether or not Serendipity Ltd should become a public limited company (PLC).
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Sticky Note

AO2 Candidate has applied issue of becoming a PLC to Serendipity Ltd.



Sticky Note

AO2 Once again candidate has applied the issue of becoming a PLC to Serendipity Ltd.



Sticky Note

AO3 Analysis shows understanding of the impact on Serendipity Ltd. of operating as a PLC.



Sticky Note

No marks awarded because  same for a  Ltd. company.



Sticky Note

AO3 Analysis of why a business should not become a PLC demonstrated.



Sticky Note

AO4 x 2 marks. Candidate has included a a valid conclusion and has made a good attempt at weighing up benefits and drawbacks of become a PLC for Serendipity Ltd. throughout their answer.










Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also trades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and children as well
as looking at other sports such as cycling, sailing and skiing. She is also considering turning the
company into a public limited company by floating it on the Stock Exchange.
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(b) Discuss whether or not Serendipity Ltd should become a public limited company (PLC).
[8]
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4. The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of its rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.

Global Smartphone Market Share
(Q2 2014)

Samsung
25.20%

Apple
11.90%

LG Huawei
4.90% A Xiaomi [ 6.80%
5.10% 5.40%
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{c) Discuss the view that primary research is always likely to be of greater advantage to a
business than secondaryresearch [8]
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4. The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of its rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.

Global Smartphone Market Share
(Q2 2014)

Samsung
25.20%

Apple
11.90%

LG Huawei
4.90% A Xiaomi [ 6.80%
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(c) Discuss the view that primary research is always likely to be of greater advantage to a
business than secondary research. 8]
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4. The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of its rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.

Global Smartphone Market Share
(Q2 2014)
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Discuss the view that primary research is always likely to be of greater advantage to a
business than secondary ressarch. [8]
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Q4 (c) Discuss the view that primary research is always likely to be of

greater advantage to a business than secondary research. [8]
Band AO3 AO4
4 marks 4 marks
2 3-4 marks 3-4 marks
A good analysis of the Detailed and well-balanced
advantage(s) and disadvantage(s) | evaluation of both market research
of both primary and secondary methods.

market research methods.
Valid judgements made with

Analysis shows a clear qualifying statements.
understanding of both methods and
their impact on business success. Learner is likely to offer an overall
conclusion.

1 1-2 mark 1-2 mark
A limited analysis of the Limited and uneven evaluation
advantage(s) or disadvantage(s) of | which may only focus on one-side
primary and secondary market of the argument for both/either
research methods. market research methods.

Likely to focus on either primary or | Judgements are superficial and
secondary research. only partially supported.

Learners demonstrate a superficial | The learner fails to come to a
understanding of how the use of conclusion or does not really
these methods impacts on business | qualify their arguments.

success. A listed approach.

Underdeveloped points are made.
0 0 marks 0 marks

Little or no analysis demonstrated. | No attempt at evaluation has been
made.

Indicative content

Advantages of primary research to a business:

e Primary research is first hand and specific to the needs of the business. The data is
more accurate/relevant to a business.

e Business asking for the research has complete control over the process and the
targeted Issues are addressed.

e The business collecting the primary data is the owner of that information and need
not share it with other companies and competitors. This gives an edge over
competitors relying on secondary data.

© WJEC CBAC Ltd. 12





e Secondary data can be out dated especially in a fast changing industry.

e Secondary information and data may not be accurate. The source of the data must
always be checked.

e The company publishing the secondary data may not be reputable.
Advantages of secondary research to a business:

o Primary research depends on the responses of the consumer who may not respond
in the same manner in the future and may be a waste of money and time.

e Primary research can be expensive and time consuming. Could small scale
businesses afford it?

e A poorly constructed questionnaire/survey can lead to bias and errors.
e Primary research not always feasible.
e Secondary research can be quicker and less costly than primary research.

e Credit any other relevant points.

Possible conclusion
Both secondary and primary research have their advantages and disadvantages, and the
best one will depend on what the business needs and the resources it has available to carry

out the research. Choosing an incorrect sample for primary and secondary can lead to bias
and make the data untrustworthy.

Edugas Business AS Component 1 — Summer 2016
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4. The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of its rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.
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(Q2 2014)
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{c) Discuss the view that primary research is always likely to be of greater advantage to a
business than secondaryresearch [8]
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Sticky Note

AO3 Analysis shows a clear understanding of the advantages of using primary market research and the impact on business.



Sticky Note

AO4 x 2 Candidate has included a balanced evaluation of primary market research. Judgments are valid and followed by qualifying statements.



Sticky Note

AO3 Candidate has included a good analysis of the disadvantages of using primary market research.
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antoniettaluisaparisi-howells

Sticky Note

AO3 Analysis shows a clear understanding of the advantages  of secondary market research and the impact on business success.



antoniettaluisaparisi-howells

Sticky Note

AO3 Analysis shows a clear understanding of the disadvantages of secondary market research and the impact on business.



antoniettaluisaparisi-howells

Sticky Note

A valid overall conclusion has been included. Candidate has gained top marks because she/he has produced a detailed and well balanced evaluation of both market research methods.



antoniettaluisaparisi-howells

Sticky Note

AO4 x 2 Candidate has included a balanced evaluation of secondary market research. Judgments are valid and followed by qualifying statements.
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4. The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of its rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.

Global Smartphone Market Share
(Q2 2014)

Samsung
25.20%

Apple
11.90%

LG Huawei
4.90% A Xiaomi [ 6.80%
5.10% 5.40%






9

(c) Discuss the view that primary research is always likely to be of greater advantage to a
business than secondary research. 8]
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Sticky Note

AO3 x 2 (BOD) Candidate attempts to  analyse  the advantages and disadvantages of using primary market research.  Though answer lacks depth and points are not well developed enough an attempt has been made to show some impact of using this method on business success.



Sticky Note

AO3 Candidate attempts to analyse  the advantages and disadvantages of using secondary market research.  However, answer lacks depth and points are not developed enough to show a clear understanding of the impact on business success.



Sticky Note

AO4 x 2 Candidate has attempted to include an overall conclusion and though judgments are superficial and only partially supported an attempt at evaluating both market research methods has been made.



Sticky Note

Candidate demonstrates a good understanding of the two methods but answer lacks depth.
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4. The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of its rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.

Global Smartphone Market Share
(Q2 2014)
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Discuss the view that primary research is always likely to be of greater advantage to a
business than secondary ressarch. [8]
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Sticky Note

AO3 Candidate has highlighted an advantage of using primary market research and attempted to show the impact this will have on the business.



Sticky Note

AO3 Candidate has demonstrated an understanding of how using  secondary market research can impact on business success.



Sticky Note

Repetition therefore no marks awarded.
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Sticky Note

AO4 x 2 Candidate has produced a limited evaluation of both methods. Judgments are sometimes superficial. A conclusion has been included in the answer.










The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of its rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.

Global Smartphone Market Share
(Q2 2014)
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Examiner
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(c) Discuss the view that primary research is always likely to be of greater advantage to a o

business than secondary research. [8]












